1.Take out the product and all accessories,
install the hydraulic pump cover, screw the
small screws on the cover.

2.Install the foot lever on the hydraulic
pump and tighten the short hex socket
screw with a wrench.

4.If the hole at the upper end of the solid shaft of the liquid pump rod is not in the middle
position, press the foot rod to the very bottom and do not release it. At the same time, rotate
the solid shaft to align the hole with the small screw on the decorative cover. At the same
time, press the solid shaft to the very bottom and then release the foot rod.

3.Close the side

O release the brake)

5.Release the brakes on all four wheels
of the chassis lid.

| @
/> o
be

. Short screw with gasket
[ Don't tighten the screws yet

@
»

|
|
{
1
1
1

6.Install the hydraulic pump on the bottom
rack, insert 4 M8*30 screws into the gasket,
and screw in from the bottom. (Don't tighten
the screws yet)

| ]
~ | Il

9.Direct the hydraulic pump to the middle hole
of the armrest frame, and insert the M6*40
screws, screw in the small nuts, and then use
a wrench to tighten the screws.

12.Close the switch handle and put the screw
cap on the well cover.

7.Insert the two thick round tubes into the
mounting holes of the base frame, and screw
in the black twist screws to press the round
tubes tightly.

8.Put the armrests on both sides of the
circular tube.

E;

10.Lay the shifter on its side and tighten the
fixing screws under the base frame with a
wrench.

T e
rf 1y - X

6.

@

11:Insert the left and right mounts into the
support rods respectively, then insert the
screws of the M8*50 and tighten them with
the wrench screws.

13.Install the armrests on both sides of the
seat frame with M5*35 screws and tighten the
screws with a wrench.

i

15.Load the toilet bucket into the shelf.

16.Screw the two support posts into the
serving table.

14.Install the armrests on both sides of the
seat frame with M5*35 screws and tighten the
screws with a wrench.

17.Insert the table into the plastic holes on
both sides of the shifter.




